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B.Sc. 4th Semester (Programme) Examination, 2021 

CHEMISTRY 

(Functional Group Organic Chemistry, Inorganic Chemistry, Coordination 

Chemistry and Transition Metal Chemistry) 

Paper :  UGP/CHEM./401/C-1D 

Course ID : 41418 

Time: 1 Hour 15 Minutes                                                              Full Marks: 25 

                                                           

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমান ক্ষনশ্নদণশক | 

পরীিার্থীশ্নদর যর্থাসম্ভব ক্ষনশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব| 

 

1. Answer any five questions from the following: 

    যয যকাশ্ননা পাাঁচটি প্রশ্নের উত্তর দাও:                                                                                           1×5 = 5 

 

(a) Write down the zwitterionic structure of phenylalanine. 

      ক্ষিনাইি এিাক্ষনযণর েইুটার আয়ন গঠন যিশ্নখ্া | 
 

(b) What is osazone? 

       ওসােন ক্ষক? 

 

(c) Name a transition element which does not exhibit variable oxidation states. 

     একটি সক্ষিগে যমৌশ্নির নাম যিখ্, যাহা পক্ষরবেণ নশীি যযােযো যদখ্ায় না | 
 

(d) Indicate the primary and secondary valences of the coordination compound, [Cr(C2O4)3]
3-. 

                       

     [Cr(C2O4)3]
3- - যযৌগটির প্রার্থক্ষমক ও যগৌণ যযােযো ক্ষনশ্নদণশ কশ্নরা | 

 

(e) Define random error. 

      রান্ডম এরর এর সংজ্ঞা দাও | 

 

(f) Write down composition of Portland cement. 

      পটণ িান্ড ক্ষসশ্নমশ্নের সংযুক্ষি যিশ্নখ্া | 
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(g) Why formic acid is more acidic than acetic acid? 

      অ্যাক্ষসটিক অ্যাক্ষসড অ্শ্নপিা িরক্ষমক অ্যাক্ষসড অ্ক্ষিক আক্ষিক যকন? 

 

(h) How can benzene be prepared from benzene diazonium chloride? 

      ক্ষকভাশ্নব যবনক্ষেন ডায়াশ্নোক্ষনয়াম যলারাইড যর্থশ্নক যবনক্ষেন প্রস্তুে করশ্নব? 

 

2. Answer any two questions from following:                                                                      5×2 = 10 

    যয যকাশ্ননা দটুি প্রশ্নের উত্তর দাও: 

 

(a) (i) Difference between accuracy and precision. 

         যর্থাযর্থ ও ক্ষনভুণ িোর মশ্নিয পার্থণকয যিশ্নখ্া | 
 

(ii) What is producer gas? 

      প্রক্ষডউসার গযাস ক্ষক? 

 

(iii) Give two examples of nitrogen containing fertilizer.                                                  2+1+2 = 5 

       নাইশ্নরাশ্নেন ঘটিে দটুি সাশ্নরর উদাহরণ দাও |     

                                                                                                                                             

(b) (i) What is spectrochemical series? 

          যেশ্নরাশ্নকক্ষমকযাি ক্ষসক্ষরে ক্ষক? 

 

(ii) Give the difference between strong and weak field ligand. 

      স্ট্রং ক্ষিল্ড ও উইক ক্ষিল্ড িীশ্নগন্ডর পার্থণকয যিশ্নখ্া | 
                   

(iii) La(OH)3 and Lu(OH)3 - which one is more basic and why?                                       1+2+2 = 5 

       La(OH)3 and Lu(OH)3 - যকানটি অ্ক্ষিক িারকীয় এবং যকন? 

                                                                                            

(c) (i) Why glucose and fructose give same osazone? 

           গ্লুশ্নকাে ও ফু্রশ্নটাে যকন একই ওসাশ্নোন যদয়? 

 

(ii) What is coupling reaction? Give an example of this reaction. 

       কাপক্ষিং ক্ষবক্ষিয়া ক্ষক?  এই ক্ষবক্ষিয়ার একটি উদাহরণ দাও | 

 

(iii) Convert: CH3COOH     BrCH2COOH 

       রূপান্তর কশ্নরা: CH3COOH   BrCH2COOH                                                  2+2+1 = 5 

 

(d) (i) Outline Gabriel’s synthesis of alanine. 

           গযাক্ষিশ্নয়ি পদ্ধক্ষেশ্নে অ্যািাক্ষনন প্রস্তুে কশ্নরা | 
 

(ii)  How will you prepare benzoic acid using Grignard reagent? 

       ক্ষিগনাডণ  ক্ষবকারক বযবহার কশ্নর ক্ষকভাশ্নব যবনেক্ষয়ক অ্যাক্ষসড প্রস্তুে করশ্নব? 

 

 

Please Turn Over 

 



3 

 

 

(iii) How many significant number(s) in 800.0? 

       800.0 এর কেগুক্ষি যর্থার্থণ সংখ্যা আশ্নে?                                                                             2+2+1 = 5 

 

3. Answer any one question from following:                                                                      10×1 = 10 

    যযশ্নকাশ্ননা একটি প্রশ্নের উত্তর দাও: 

    

(a) (i) Complete the following reaction sequence: 

         ক্ষনশ্নচর ক্ষবক্ষিয়াটি সম্পূণণ কশ্নরা: 
NO2 NH2 N2Cl OH

? ?
? ?

 
(ii) Short note (টীকা):  
      Perkin Reaction 

      পাক্ষকণ ং ক্ষবক্ষিয়া 
       

(iii)Write down the draw backs of Valence Bond Theory. 

      ভযাশ্নিন্স বন্ড েশ্নের সীমাবদ্ধো গুক্ষি যিশ্নখ্া | 
 

(iv) Define - Cracking and Octane number. 

       িাক্ষকং ও অ্কশ্নটন নাম্বাশ্নরর সংজ্ঞা দাও |  

 

(v) Sc3+ is colorless but Ti3+ is colored – Explain. 

      Sc3+ আয়ন বণণহীন ক্ষকন্তু Ti3+ আয়ন বণণযুি বযাখ্যা কশ্নরা |                               2+2+2+(1+1)+2 = 10 

 

 

(b) (i) Why Ce4+ ion is more stable than Ce3+ ion? 

          যকন Ce3+ আয়ন অ্শ্নপিা Ce4+ আয়ন যবক্ষশ ক্ষস্থক্ষেশীি? 

 

(ii) Complete the following reaction sequence: 

      ক্ষবক্ষিয়াটি সম্পূণণ কশ্নরা: 

CH3COOH
PCl5 NH3

Br2/KOH HNO2? ? ? ?
 

 

(iii) Why Cu+ ion is not stable in aqueous solution? 

       Cu+ আয়ন েিীয় দ্রবশ্নণ স্থায়ী নয় যকন? 

 

(iv) How can you distinguish between methyl amine and aniline? 

      ক্ষমর্থাইি অ্যাক্ষমন ও অ্যাক্ষনক্ষিন যক ক্ষকভাশ্নব পার্থণকয করশ্নব? 

 

(v) Explain structure of [Ni(CN)4]
2- using VBT. 

     [Ni(CN)4]
2- এর গঠন ভযাশ্নিন্স বন্ড েশ্নের সাহাশ্নযয বযাখ্যা কশ্নরা |                              2+2+2+2+2 = 10 

 

___________ 


